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i,/ T gt 2g) (
+11)
1 [gydTmE 0 0 0 0 0 0 0
2 | 0 0 0 0 0 0 1
3 [uiamreg 0 0 0 0 0 0 0 0
4 |3 0 0 1 0 0 0 0 1
5 |dAGI = 0 0 0 0 0 0 0 0
6 |TRao 0 0 0 0 0 0 0 0
7 [WSESS 0 0 0 0 0 0 0 0
P 0 0 2 0 0 0 0 2
Bl U] 454 1 2 24 15 0 446
Note: Corrected Herd Account
Rt (wfRreqor EARKil))
1 | T @ghQj 22 0 0 0 22
2 [wis @cSy 17 1 0 0 0 1 17
TrT(A) 39 1 0 1 39
e (@R dv B
1 |7 i@ghqj 23 0 0 0 23
2 [wis @cSy 11 2 0 0 13
IT(B) 34 2 0 0 36
ST (URIET B b))
1| @ghQj 1 0 0 0 1
2 |wis @cSy 0 0 0 0 0 0 0
Tr(C) 1 0 0 0 0 0 1
TA0YE (AT B Hrer
1| @ghQj 3 0 0 0 0 0 3
2 |wis @cSy 0 12 0 0 0 0 12
(D) 3 12 0 0 0 0 15
Do R/ Red 77 15 0 0 0 1 91
AR 531 16 2 15 1 537

* TWH - TRANSFER WITHIN THE HERD.




